Practice questions — Year 5 and 6 — Rounding

. Round 483 to the nearest 10 (rounding)

. Round 7,526 to the nearest 10 (rounding)

. Round 65,409 to the nearest 100 (rounding)
Round 102,315 to the nearest 100 (rounding)
Round 3,450 to the nearest 1,000 (rounding)
Round 47,891 to the nearest 1,000 (rounding)
. Round 980.99 to the nearest tenth (rounding)

. Round 2,398.62 to the nearest tenth (rounding)
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. Round 3.54 to the nearest whole (rounding)

10. Round 650.15 to the nearest whole (rounding)
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Practice question answers — Year 5 and 6 — Rounding

Round 483 to the nearest 10 = 480 (rounding)

Round 7,526 to the nearest 10 = 7,530 (rounding)
Round 65,409 to the nearest 100 = 65,400 (rounding)
Round 102,315 to the nearest 100 = 102,300 (rounding)
Round 3,450 to the nearest 1000 = 3,000 (rounding)
Round 47,891 to the nearest 1000 = 48,000 (rounding)
Round 980.99 to the nearest tenth = 981.0 (rounding)

. Round 2,398.62 to the nearest tenth = 2,398.6 (rounding)
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. Round 3.54 to the nearest whole = 4 (rounding)

10. Round 650.15 to the nearest whole = 650 (rounding)
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